



Modified Bernstein-Kantorovich Operators Reproducing Affine Functions

Bin Zhang^a, Dansheng Yu^a, Fengfeng Wang^a

^aDepartment of Mathematics, Hangzhou Normal University, Hangzhou, Zhejiang 310036, China

Abstract. In the present paper, we introduce a new variant of Bernstein-Kantorovich operators which reproduce affine functions. The approximation rate of the new operators for continuous functions and Voronovskaja's asymptotic estimate are obtained.

1. Introduction

Let $C[0, 1]$ be the class of all continuous functions on $[0, 1]$. For any given $f(x) \in C[0, 1]$, the well-known Bernstein operator is defined by

$$B_n(f, x) := \sum_{k=0}^n f\left(\frac{k}{n}\right) p_{n,k}(x), \quad x \in [0, 1],$$

where $p_{n,k}(x) := \binom{n}{k} x^k (1-x)^{n-k}$, $k = 0, 1, \dots, n$.

There are lots of different generalizations of Bernstein operators. Among them, the Kantorovich type variant and Durrmeyer type variant are most well known, which are defined by

$$K_n(f, x) := \sum_{k=0}^n (n+1) p_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt,$$

$$D_n(f, x) := \sum_{k=0}^n (n+1) p_{n,k}(x) \int_0^1 p_{n,k}(t) f(t) dt.$$

$K_n(f, x)$ and $D_n(f, x)$ are called Bernstein-Kantorovich operators and Bernstein-Durrmeyer operators respectively. Both $K_n(f, x)$ and $D_n(f, x)$ are positive operators, but neither $K_n(f, x)$ nor $D_n(f, x)$ can reproduce the affine functions, which is different from classical Bernstein operators. Chen [3], Goodman and Sharma [10] firstly introduced the genuine Bernstein-Durrmeyer defined as follows:

$$D_n^*(f, x) := f(0)p_{n,0}(x) + f(1)p_{n,n}(x) + (n-1) \sum_{k=1}^{n-1} p_{n,k}(x) \int_0^1 p_{n-2,k-1}(t) f(t) dt,$$

2020 *Mathematics Subject Classification.* Primary 41A36, 41A25, 41A17, 41A10

Keywords. Bernstein-Kantorovich Operators, approximation rates, Voronovskaja's asymptotic estimate.

Received: 08 December 2021; Accepted: 19 March 2022

Communicated by Miodrag Spalević

Corresponding author: Dansheng Yu

Email addresses: 627456178@qq.com (Bin Zhang), dsyu@hznu.edu.cn (Dansheng Yu), ffwang317@163.com (Fengfeng Wang)

The operators $D_n^*(f, x)$ are limits of the Bernstein-Durrmeyer operators with Jacobi weights. Comparing with the usual Bernstein-Durrmeyer operators, one of the advantages of $D_n^*(f, x)$ is that $D_n^*(f, x)$ reproduce the affine functions. Lots of authors have done many excellent works on both the direct and converse results, Voronovskaja’s asymptotic estimate of the approximation by $D_n^*(f, x)$ and its generalizations (see [1], [6]-[11], [16]-[19]).

Analogue constructions of various families of approximation operators such as Szász-Mirakjan operators, Szász-Mirakjan Beta type operators, Srivastava-Gupta operators, Bleimann-Butzer-Hann operators, and so on, were given by many authors ([12], [20]-[25]). The approximation properties of these operators are well investigated.

Recently, Bustamante ([2]) introduced a very interesting modification of the Szász-Mirakjan-Kantorovich operators which reproduce the affine functions. The most important idea in the modification is to replace the integral $\int_{I_{nk}} f(t)dt$ with $\int_{I_{nk}} f(a_k t)dt$ in the definition of the usual Szász-Mirakjan-Kantorovich operators, where $I_{nk} = [k/n, (k + 1)/n]$ and $a_k = 2k/(2k + 1)$ is a scaling factor. The new modified operators have many excellent approximation properties.

Motivated by the constructions of the genuine Bernstein-Durrmeyer operators and the ideas of Bustamante, we introduce a new variant of the classical Bernstein-Kantorovich operators which reproduce the affine functions. Our new modified Bernstein-Kantorovich operators are define as follows:

$$K_n^*(f, x) := f(0)p_{n,0}(x) + f(1)p_{n,n}(x) + \sum_{k=1}^{n-1} (n + 1)p_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(a_{nk}t)dt,$$

where the scaling factor $a_{nk} := \frac{n+1}{n} \cdot \frac{2k}{2k+1}, k = 0, 1, \dots; n = 1, 2, \dots$.

Obviously, $K_n^*(f, x)$ is positive linear operator. We will show that $K_n^*(f, x)$ reproduce the affine functions (see Lemma 2). For the approximation rate of $K_n^*(f, x)$ for $f \in C[0, 1]$, we have the following Ditzian-Totik type estimates which includes both the uniform estimates and pointwise estimates.

Theorem 1.1. *Let $0 \leq \lambda \leq 1$ be a fixed number. For any $f \in C[0, 1]$, there is a positive constant only depending on λ such that*

$$|K_n^*(f, x) - f(x)| \leq C\omega_{\varphi^\lambda}^2\left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}}\right),$$

where $\delta_n(x) = \varphi(x) + \frac{1}{\sqrt{n}}, \varphi(x) = \sqrt{x(1-x)}$, and

$$\omega_{\varphi^\lambda}^2(f, t) := \sup_{0 < h \leq t} \sup_{x \pm h\varphi^\lambda(x) \in [0,1]} \left| \Delta_{h\varphi^\lambda}^2 f(x) \right|.$$

We also have the following Voronovskaja’s asymptotic estimate of $K_n^*(f, x)$:

Theorem 1.2. *Let $f \in C[0, 1]$. If f'' exists at a point $x \in [0, 1]$, then*

$$\lim_{n \rightarrow \infty} n(K_n^*(f, x) - f(x)) = \varphi^2(x)f''(x)$$

Throughout the paper, C denotes either a positive absolute constant or a positive constant may depend on some parameters but not on f, x and n . Their values may be deferent in different situations.

2. Auxiliary Lemmas

We need the following some auxiliary lemmas.

Lemma 2.1. ([26]) *It holds that*

$$\sum_{k=0}^n \frac{k}{n} p_{nk}(x) = x, \tag{1}$$

$$\sum_{k=0}^n \frac{k^2}{n^2} p_{nk}(x) = \frac{n-1}{n} x^2 + \frac{1}{n} x, \tag{2}$$

$$\sum_{k=0}^n \frac{k^3}{n^3} p_{nk}(x) = \frac{(n-1)(n-2)}{n^2} x^3 + \frac{3(n-1)}{n^2} x + \frac{1}{n^2} x, \tag{3}$$

$$\sum_{k=0}^n \frac{k^4}{n^4} p_{nk}(x) = \frac{(n-1)(n-2)(n-3)}{n^3} x^4 + \frac{6(n-1)(n-2)}{n^3} x^3 + \frac{7(n-1)}{n^3} x^2 + \frac{1}{n^3} x. \tag{4}$$

Lemma 2.2. *It holds that*

(i). $K_n^*(1, x) = 1;$

(ii). $K_n^*(t, x) = x;$

(iii). $K_n^*(t^2, x) = x^2 + \frac{1}{n}(x - x^2) + \frac{1}{12n^2} B_n(g_n(t), x) - \frac{1}{12n^2 + 12n + 3} x^n;$

(iv).

$$K_n^*(t^3, x) = \frac{(n-1)(n-2)}{n^2} x^3 + \frac{3(n-1)}{n^2} x^2 + \frac{5}{4n^2} x - \frac{1}{4n^2} x^n - \frac{1}{4n^3} B_n(\tilde{g}_n(t), x) + \frac{1}{4n^3} \left(1 - \frac{3n+1}{(2n+1)^2}\right) x^n;$$

(v).

$$K_n^*(t^4, x) = \frac{(n-1)(n-2)(n-3)}{n^3} x^4 + \frac{6(n-1)(n-2)}{n^3} x^3 + \frac{15(n-1)}{2n^3} x^2 + \frac{1}{n^3} x + x^n \left(\frac{1}{2n^3} - \frac{1}{2n^2} - \frac{1}{2n^4} \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{(2n+1)^4} \right) + \frac{1}{2n^4} B_n(\bar{g}_n(t), x).$$

where

$$g_n(x) := \left(\frac{2nx}{2nx+1} \right)^2;$$

$$\tilde{g}_n(x) := \frac{4n^2x^2 + nx}{(2nx+1)^2};$$

$$\bar{g}_n(x) := \frac{\frac{62}{5}n^4x^4 + 16n^3x^3 + 7n^2x^2 + nx}{(2nx+1)^4}.$$

Proof. (i) is obvious. By (1), we have

$$\begin{aligned} K_n^*(t, x) &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \frac{n+1}{n} \cdot \frac{2k}{2k+1} t dt \\ &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \cdot \frac{n+1}{n} \cdot \frac{2k}{2k+1} \cdot \frac{1}{2} \left(\frac{(k+1)^2}{(n+1)^2} - \frac{k^2}{(n+1)^2} \right) \\ &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \cdot \frac{n+1}{n} \cdot \frac{2k}{2k+1} \cdot \frac{1}{2} \cdot \frac{2k+1}{(n+1)^2} \\ &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k}{n} p_{nk}(x) \\ &= x. \end{aligned}$$

By (1) and (2), we have

$$\begin{aligned}
 K_n^*(t^2, x) &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left(\frac{n+1}{n}\right)^2 \cdot \left(\frac{2k}{2k+1}\right)^2 t^2 dt \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{1}{3n^2} \cdot \left(\frac{2k}{2k+1}\right)^2 \cdot (3k^2 + 3k + 1)p_{n,k}(x) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^2}{n^2} p_{n,k}(x) + \sum_{k=1}^{n-1} \left(\frac{2k}{2k+1}\right)^2 \left(\frac{k^2}{n^2} + \frac{k}{n^2} + \frac{1}{3n^2} - \frac{k^2}{n^2} \left(\frac{2k+1}{2k}\right)^2\right) p_{n,k}(x) \\
 &= \sum_{k=0}^n \frac{k^2}{n^2} p_{n,k}(x) + \sum_{k=1}^{n-1} \left(\frac{2k}{2k+1}\right)^2 \left(\frac{1}{3n^2} - \frac{1}{4n^2}\right) p_{n,k}(x) \\
 &= \sum_{k=0}^n \frac{k^2}{n^2} p_{n,k}(x) + \frac{1}{12n^2} \sum_{k=1}^{n-1} \left(\frac{2n \cdot \frac{k}{n}}{2n \cdot \frac{k}{n} + 1}\right)^2 p_{n,k}(x) \\
 &= x^2 + \frac{x - x^2}{n} + \frac{1}{12n^2} B_n(g_n(t), x) - \frac{1}{12n^2 + 12n + 3} x^n.
 \end{aligned}$$

By (1)-(3), we have

$$\begin{aligned}
 K_n^*(t^3, x) &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left(\frac{n+1}{n}\right)^3 \cdot \left(\frac{2k}{2k+1}\right)^3 t^3 dt \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \left(\frac{n+1}{n}\right)^3 \cdot \left(\frac{2k}{2k+1}\right)^3 \cdot \frac{1}{4} \left(\frac{(k+1)^4}{(n+1)^4} - \frac{k^4}{(n+1)^4}\right) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} p_{n,k}(x) \left(\frac{2k}{2k+1}\right)^3 \cdot \frac{1}{4} \cdot (2k+1)(2k^2 + 2k + 1) \cdot \frac{1}{n^3} \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} p_{n,k}(x) \cdot \frac{k^3}{n^3} \cdot \frac{2(2k^2 + 2k + 1)}{(2k+1)^2} \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^3}{n^3} p_{n,k}(x) + \sum_{k=1}^{n-1} p_{n,k}(x) \cdot \frac{k^3}{n^3} \cdot \frac{1}{(2k+1)^2} \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^3}{n^3} p_{n,k}(x) + \frac{1}{4n^2} \sum_{k=1}^{n-1} \frac{k}{n} \cdot \frac{(2k+1)^2 - 4k - 1}{(2k+1)^2} p_{n,k}(x) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^3}{n^3} p_{n,k}(x) + \frac{1}{4n^2} \sum_{k=1}^{n-1} \frac{k}{n} p_{n,k}(x) - \frac{1}{4n^3} \sum_{k=1}^{n-1} \frac{4k^2 + k}{(2k+1)^2} p_{n,k}(x) \\
 &= \frac{(n-1)(n-2)}{n^2} x^3 + \frac{3(n-1)}{n^2} x + \frac{1}{n^2} x + \frac{1}{4n^2} (x - p_{n,n}(x)) - \frac{1}{4n^3} \sum_{k=1}^{n-1} \frac{4k^2 + k}{(2k+1)^2} p_{n,k}(x) \\
 &= \frac{(n-1)(n-2)}{n^2} x^3 + \frac{3(n-1)}{n^2} x^2 + \frac{5}{4n^2} x - \frac{1}{4n^2} x^n - \frac{1}{4n^3} B_n(\tilde{g}_n(t), x) + \frac{1}{4n^3} \left(1 - \frac{3n+1}{(2n+1)^2}\right) x^n.
 \end{aligned}$$

By (1)-(4), we have

$$K_n^*(t^4, x) = p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} \left(\frac{n+1}{n}\right)^4 \cdot \left(\frac{2k}{2k+1}\right)^4 t^4 dt$$

$$\begin{aligned}
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} (n+1)p_{n,k}(x) \left(\frac{n+1}{n}\right)^4 \cdot \left(\frac{2k}{2k+1}\right)^4 \cdot \frac{1}{5} \left(\frac{(k+1)^5}{(n+1)^5} - \frac{k^5}{(n+1)^5}\right) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{16}{5} \cdot \frac{k^4}{n^4} (5k^4 + 10k^3 + 10k^2 + 5k + 1) \frac{1}{(2k+1)^4} p_{n,k}(x) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^4}{n^4} p_{n,k}(x) + \sum_{k=1}^{n-1} \frac{k^4}{n^4} \cdot \frac{8k^2 + 8k + \frac{11}{5}}{(2k+1)^4} p_{n,k}(x) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^4}{n^4} p_{n,k}(x) + \frac{1}{2n^2} \sum_{k=1}^{n-1} \frac{k^2}{n^2} \cdot \frac{2k^2(8k^2 + 8k + \frac{11}{5})}{(2k+1)^4} p_{n,k}(x) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^4}{n^4} p_{n,k}(x) + \frac{1}{2n^2} \sum_{k=1}^{n-1} \frac{k^2}{n^2} p_{n,k}(x) \\
 &\quad - \frac{1}{2n^2} \sum_{k=1}^{n-1} \frac{k^2}{n^2} \cdot \frac{16k^3 + 24k^2 - \frac{22}{5}k^2 + 8k + 1}{(2k+1)^4} p_{n,k}(x) \\
 &= p_{n,n}(x) + \sum_{k=1}^{n-1} \frac{k^4}{n^4} p_{n,k}(x) + \frac{1}{2n^2} \sum_{k=1}^{n-1} \frac{k^2}{n^2} p_{n,k}(x) - \frac{1}{2n^3} \sum_{k=1}^{n-1} \frac{k}{n} p_{n,k}(x) \\
 &\quad + \frac{1}{2n^4} \sum_{k=1}^{n-1} \frac{\frac{62}{5}k^4 + 16k^3 + 7k^2 + k}{(2k+1)^4} p_{n,k}(x) \\
 &= \frac{(n-1)(n-2)(n-3)}{n^3} x^4 + \frac{6(n-1)(n-2)}{n^3} x^3 + \frac{7(n-1)}{n^3} x^2 + \frac{1}{n^3} x \\
 &\quad + \frac{1}{2n^2} \left(\frac{n-1}{n} x^2 + \frac{1}{n} x - p_{n,n}(x)\right) - \frac{1}{2n^3} (x - p_{n,n}(x)) \\
 &\quad + \frac{1}{2n^4} B_n(\bar{g}_n(t), x) - \frac{1}{2n^4} \cdot \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{(2n+1)^4} p_{n,n}(x) \\
 &= \frac{(n-1)(n-2)(n-3)}{n^3} x^4 + \frac{6(n-1)(n-2)}{n^3} x^3 + \frac{15(n-1)}{2n^3} x^2 + \frac{1}{n^3} x \\
 &\quad + x^n \left(\frac{1}{2n^3} - \frac{1}{2n^2} - \frac{1}{2n^4} \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{(2n+1)^4}\right) + \frac{1}{2n^4} B_n(\bar{g}_n(t), x).
 \end{aligned}$$

□

Lemma 2.3. *It holds that*

$$K_n^*((t-x)^2, x) = \frac{x-x^2}{n} + \frac{1}{12n^2} B_n(g_n(t), x) - \frac{1}{12n^2 + 12n + 3} x^n, \tag{5}$$

$$\begin{aligned}
 K_n^*((t-x)^4, x) &= \frac{3n-6}{n^3} x^4 + \frac{12-6n}{n^3} x^3 + \frac{5n-15}{2n^3} x^2 + \frac{1}{n^3} x \\
 &\quad + \left(\frac{1-n}{2n^3} + \frac{x}{n^2} - \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{2(2n^2+n)^4} - \frac{(4n+1)x}{(2n^2+n)^2} - \frac{2x^2}{(2n+1)^2}\right) x^n \\
 &\quad + \frac{1}{2n^4} B_n(\bar{g}_n(t), x) + \frac{x}{n^3} B_n(\bar{g}_n(t), x) + \frac{x^2}{2n^2} B_n(g_n(t), x).
 \end{aligned} \tag{6}$$

Proof. By using (i)-(iii) of Lemma 2, we have

$$\begin{aligned} K_n^*((t-x)^2, x) &= K_n^*(t^2, x) - 2xK_n^*(t, x) + x^2 \\ &= x^2 + \frac{x-x^2}{n} + \frac{1}{12n^2}B_n(g_n(t), x) - \frac{1}{12n^2+12n+3}x^n - x^2 \\ &= \frac{x-x^2}{n} + \frac{1}{12n^2}B_n(g_n(t), x) - \frac{1}{12n^2+12n+3}x^n, \end{aligned}$$

which proves (5).

By using (i)-(iii) of Lemma 2, we deduce that

$$\begin{aligned} K_n^*((t-x)^4, x) &= K_n^*(t^4, x) - 4xK_n^*(t^3, x) + 6x^2K_n^*(t^2, x) - 4x^3K_n^*(t, x) + x^4 \\ &= \frac{3n-6}{n^3}x^4 + \frac{12-6n}{n^3}x^3 + \frac{5n-15}{2n^3}x^2 + \frac{1}{n^3}x \\ &\quad + \left(\frac{1-n}{2n^3} + \frac{x}{n^2} - \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{2(2n^2+n)^4} - \frac{(4n+1)x}{(2n^2+n)^2} - \frac{2x^2}{(2n+1)^2} \right) x^n \\ &\quad + \frac{1}{2n^4}B_n(\bar{g}_n(t), x) + \frac{x}{n^3}B_n(\bar{g}_n(t), x) + \frac{x^2}{2n^2}B_n(g_n(t), x) \\ &\quad - 4x \left(\frac{(n-1)(n-2)}{n^2}x^3 + \frac{3(n-1)}{n^2}x^2 + \frac{5}{4n^2}x - \frac{1}{4n^2}x^n - \frac{1}{4n^3}B_n(\bar{g}_n(t), x) \right) \\ &\quad + \frac{1}{4n^3} \left(1 - \frac{3n+1}{(2n+1)^2} \right) x^n + 6x \left(\frac{x-x^2}{n} + \frac{1}{12n^2}B_n(g_n(t), x) \right. \\ &\quad \left. - \frac{4n^2}{48n^4+48n^3+12n^2}x^n \right) - 4x^3 + x^4 \\ &= \left(\frac{(n-1)(n-2)(n-3)}{n^3} - \frac{4(n-1)(n-2)}{n^2} - \frac{6}{n} + 3 \right) x^4 \\ &\quad + \left(\frac{6(n-1)(n-2)}{n^3} - \frac{12(n-1)}{n^2} + \frac{6}{n} \right) x^3 + \left(\frac{7(n-1)}{n^3} - \frac{5}{n^2} + \frac{n-1}{2n^3} \right) x^2 \\ &\quad + \frac{1}{n^3}x + \left(\frac{1}{2n^3} - \frac{1}{2n^2} + \frac{x}{n^2} - \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{2(2n^2+n)^4} - \frac{x}{n^3} \left(1 - \frac{3n+1}{(2n+1)^2} \right) \right. \\ &\quad \left. - \frac{2x^2}{(2n+1)^2} \right) x^n + \frac{1}{2n^4}B_n(\bar{g}_n(t), x) + \frac{x}{n^3}B_n(\bar{g}_n(t), x) + \frac{x^2}{2n^2}B_n(g_n(t), x) \\ &= \frac{3n-6}{n^3}x^4 + \frac{12-6n}{n^3}x^3 + \frac{5n-15}{2n^3}x^2 + \frac{1}{n^3}x \\ &\quad + \left(\frac{1-n}{2n^3} + \frac{x}{n^2} - \frac{\frac{62}{5}n^4 + 16n^3 + 7n^2 + n}{2(2n^2+n)^4} - \frac{(4n+1)x}{(2n^2+n)^2} - \frac{2x^2}{(2n+1)^2} \right) x^n \\ &\quad + \frac{1}{2n^4}B_n(\bar{g}_n(t), x) + \frac{x}{n^3}B_n(\bar{g}_n(t), x) + \frac{x^2}{2n^2}B_n(g_n(t), x). \end{aligned}$$

□

3. Proof of results

3.1. Proof of Theorem 1

It is obvious that

$$\|K_n^*(f)\| \leq \|f\|, \tag{7}$$

where $\|f\|$ is the uniform norm of f in $C[0, 1]$.

Define

$$K_{\varphi^\lambda}^*(f, t^2) := \inf_{g \in D_\lambda^2} \left\{ \|f - g\| + t^2 \|\varphi^{2\lambda} g''\| + t^{1-\frac{2}{\lambda}} \|g''\| \right\}.$$

where $D_\lambda^2 := \{f \in C_{[0,1]}, f' \in A.C._{loc}, \|\varphi^{2\lambda} f''\| < +\infty, \|f''\| < \infty\}$. It is well known that (see [4]) $K_{\varphi^\lambda}^*(f, t^2) \sim \omega_{\varphi^\lambda}^2(f, t)$. Therefore, for any fixed n, λ and x , we may choose a $g_{n,x,\lambda}(t) \in D_\lambda^2$ such that

$$\|f - g\| \leq C\omega_{\varphi^\lambda}^2 \left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right), \tag{8}$$

$$\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| \leq C\omega_{\varphi^\lambda}^2 \left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right). \tag{9}$$

$$\left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{1}{1-\frac{2}{\lambda}}} \|g''\| \leq C\omega_{\varphi^\lambda}^2 \left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right). \tag{10}$$

By (7) and (8), we have

$$\begin{aligned} |K_n^*(f, x) - f(x)| &\leq |K_n^*(f - g, x)| + |f(x) - g(x)| + |K_n^*(g, x) - g(x)| \\ &\leq 2\|f - g\| + |K_n^*(g, x) - g(x)| \\ &\leq C\omega_{\varphi^\lambda}^2 \left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right) + |K_n^*(g, x) - g(x)|. \end{aligned} \tag{11}$$

By using Taylor's expansion

$$g(t) = g(x) + g'(x)(t - x) + \int_x^t (t - u)g''(u)du,$$

Lemma 3, and the following inequality (see [5]):

$$\frac{|t - u|}{\delta_n^{2\lambda}(u)} \leq \frac{|t - x|}{\delta_n^{2\lambda}(x)}, \text{ for any } u \text{ between } x \text{ and } t,$$

we have

$$\begin{aligned} |K_n^*(g, x) - g(x)| &= \left| K_n^* \left(\int_x^t (t - u)g''(u)du, x \right) \right| \\ &\leq C\|\delta_n^{2\lambda} g''\| K_n^* \left(\frac{(t - x)^2}{\delta_n^{2\lambda}(x)}, x \right) \\ &\leq C\frac{1}{\delta_n^{2\lambda}(x)} \|\delta_n^{2\lambda} g''\| \left(\frac{x - x^2}{n} + \frac{1}{12n^2} B_n(g_n(t), x) - \frac{1}{12n^2 + 12n + 3} x^n \right) \\ &\leq C\frac{1}{\delta_n^{2\lambda}(x)} \|\delta_n^{2\lambda} g''\| \left(\frac{x - x^2}{n} + \frac{1}{n^2} \right) \\ &\leq C\frac{\|g''\delta_n^{2\lambda}\|}{\delta_n^{2\lambda}(x)} \frac{1}{n} \left(\varphi(x) + \frac{1}{\sqrt{n}} \right)^2 \\ &\leq C\frac{\delta_n^{2(1-\lambda)}(x)}{n} \left\| \left(\varphi^{2\lambda} + \left(\frac{1}{\sqrt{n}} \right)^{2\lambda} \right) g'' \right\| \\ &\leq C \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| + \frac{\delta_n^{2(1-\lambda)}(x)}{n} \left(\frac{1}{\sqrt{n}} \right)^{2\lambda} \|g''\| \right) \end{aligned}$$

$$\begin{aligned}
 &= C \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| + \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{2}{2-\lambda}} \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{-\lambda}{2-\lambda}} \left(\frac{1}{\sqrt{n}} \right)^{2\lambda} \|g''\| \right) \\
 &= C \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| + \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{2}{2-\lambda}} \left(\frac{1}{n \cdot \delta_n^2(x)} \right)^{\frac{\lambda(1-\lambda)}{2-\lambda}} \|g''\| \right) \\
 &\leq C \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| + \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{2}{2-\lambda}} \left(\frac{1}{n \cdot (\varphi^2(x) + \frac{1}{n})} \right)^{\frac{\lambda(1-\lambda)}{2-\lambda}} \|g''\| \right) \\
 &= C \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| + \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{2}{2-\lambda}} \left(\frac{1}{n\varphi^2(x) + 1} \right)^{\frac{\lambda(1-\lambda)}{2-\lambda}} \|g''\| \right) \\
 &\leq C \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \|\varphi^{2\lambda} g''\| + \left(\frac{\delta_n^{2(1-\lambda)}(x)}{n} \right)^{\frac{1}{1-\frac{\lambda}{2}}} \|g''\| \right) \\
 &\leq C \omega_{\varphi^\lambda}^2 \left(f, \frac{\delta_n^{1-\lambda}(x)}{\sqrt{n}} \right),
 \end{aligned} \tag{12}$$

where in the last inequality, (9) and (10) are applied.

By combining (11) and (12), we obtain Theorem 1.

3.2. Proof of Theorem 2

Using Taylor’s expansion of f :

$$f(t) = f(x) + f'(x)(t - x) + \frac{1}{2}f''(x)(t - x)^2 + \epsilon(t, x)(t - x)^2,$$

where $\epsilon(t, x) \rightarrow 0$ as $t \rightarrow x$. By using linearity of the operators $K_n^*(f, x)$, we have

$$K_n^*(f, x) = f(x) + f'(x)K_n^*(t - x, x) + \frac{1}{2}f''(x)K_n^*((t - x)^2, x) + K_n^*(\epsilon(t, x)(t - x)^2, x)$$

By (5), we have

$$\begin{aligned}
 K_n^*(f, x) - f(x) &= \frac{1}{2} \left(\frac{x - x^2}{n} + \frac{1}{12n^2} B_n(g_n(t), x) - \frac{1}{12n^2 + 12n + 3} x^n \right) f''(x) \\
 &+ K_n^*(\epsilon(t, x)(t - x)^2, x).
 \end{aligned} \tag{13}$$

By using Cauchy-Schwarz’s inequality, we have

$$n|K_n^*(\epsilon(t, x)(t - x)^2, x)| \leq \left(K_n^*(\epsilon^2(t, x), x) \right)^{1/2} \left(n^2 K_n^*((t - x)^4, x) \right)^{1/2}$$

It follows from (6) that

$$K_n^*((t - x)^4, x) = O\left(\frac{1}{n^2}\right).$$

Therefore, we have

$$\lim_{n \rightarrow \infty} n|K_n^*(\epsilon(t, x)(t - x)^2, x)| = 0 \tag{14}$$

By (13) and (14), we have

$$\lim_{n \rightarrow \infty} n(K_n^*(f, x) - f(x)) = \frac{\varphi^2(x)}{2} f''(x).$$

we complete the proof of Theorem 2.

References

- [1] T. Acu, A. Maria, P. N. Agrawal, Better approximation of functions by genuine Bernstein-Durrmeyer type operators, *J. Math. Inequal.*, 12 (2018), 975-987.
- [2] J. Bustamante, Szász-Mirakjan-Kantorovich operators reproducing affine functions, *Results Math.*, 75 (2020), 1–13.
- [3] W. Chen, On the modified Durrmeyer-Bernstein operator, Report of the Fifth Chinese Conference on Approximation Theory, Zhenzhou, China, 1987.
- [4] Z. Ditzian, V. Totik, *Moduli of Smoothness*, Springer, New York, 1987.
- [5] L. X. Dong, D. S. Yu, Pointwise approximation by a Durrmeyer variant of Bernstein-Stancu operators, *J. Inequal. Appl.*, 2017 (2017), 28–41.
- [6] H. Gonska, D. Kacsó, I. Raşa, On genuine Bernstein-Durrmeyer operators, *Result. Math.*, 50 (2007), 213–225.
- [7] H. Gonska, D. Kacsó, I. Raşa, The genuine Bernstein-Durrmeyer operators revisited, *Result. Math.*, 62 (2012), 295–310.
- [8] H. Gonska, R. Păltănea, Simultaneous approximation by a class of Bernstein-Durrmeyer operators preserving linear functions, *Cze. Math. J.*, 60 (2010), 783–799.
- [9] H. Gonska, I. Raşa, E. D. Stănilă, The eigenstructure of operators linking the Bernstein and the genuine Bernstein-Durrmeyer operators, *Medit. J. Math.*, 11 (2014), 561–576.
- [10] T. N. T. Goodman, A. Sharma, A modified Bernstein-Schoenberg operators: In Bl. Sendov et al. (eds), *Proceeding of the Conference on constructive Theory of Functions, Varna 1987*, pp. 166-173. Publ.House Bulg. Acad. of Sci., Sofia, 1988.
- [11] T. N. T. Goodman, A. Sharma, A Bernstein type operators on the simplex, *Math. Balkanica (N. S.)*, 5(1991), 129-145.
- [12] V.Gupta, H. M.Srivastava, A general family of the Srivastava-Gupta operators preserving linear functions, *European J. Pure Appl. Math.*, 11 (2018), 575–579.
- [13] B. Jiang, D. S. Yu, On Approximation by Bernstein-Stancu polynomials in movable compact disks, *Results Math.*, 72 (2017), 1535-1543.
- [14] B. Jiang, D. S. Yu, Approximation by Durrmeyer type Bernstein-Stancu polynomials in movable compact disks, *Results. Math.*, 74 (2019), 28–40.
- [15] B. Jiang, D. S. Yu, On Approximation by Stancu type Bernstein-Schurer polynomials in compact disks, *Results Math.*, 72 (2017), 1623–1638.
- [16] Kantar U D , Ergelen G . A Voronovskaja-Type Theorem for a Kind of Durrmeyer-Bernstein-Stancu Operatorss, *Gazi Univ. J. Science*, 32 (2019), 1228–1236.
- [17] N. I. Mahmudova, V. Gupta, Approximation by genuine Durrmeyer-Stancu polynomials in compact disks, *Math. Comput. Modelling*, 55 (2012), 278–285.
- [18] P. E. Parvanov, B. D. Popov, The limit case of Bernstein’s operators with Jacobi weights, *Math. Balk. (N. S.)*, 8 (1994), 165–177.
- [19] T. Sauer, The genuine Bernstein-Durrmeyer operator on a simplex, *Results Math.*, 26 (1994), 99-130.
- [20] H. M. Srivastava, Z. Finta, V. Gupta, Direct results for a certain family of summation-integral type operators, *Appl. Math. Comput.*, 190 (2007), 449–457.
- [21] H. M. Srivastava, V. Gupta, A certain family of summation-integral type operators, *Math. Comput.Modelling*, 37 (2003), 1307–1315.
- [22] H. M. Srivastava, V. Gupta, Rate of convergence for Bézier variant of the Bleimann-Butzer-Hahn operators, *Appl. Math. Letter*, 18 (2005), 849–857.
- [23] H. M. Srivastava, G. İçöz, B. Çekim, Approximation properties of an extended family of the Szász-Mirakjan Beta-type operators, *Axiom*, 8 (2019), Article ID 111, 1–13.
- [24] H. M. Srivastava, F. Özarlan, S. A. Mohiuddine, Construction of Stancu-type Bernstein operators based on Bézier bases with shape parameter λ , *symmetry*, 11 (2019), Article ID 316, 1–22.
- [25] H. M. Srivastava, X. M. Zeng, Approximation by means of the Szász-Bézier integral operators, *Int. J. Pure Appl. Math.*, 14 (2004), 283–294.
- [26] J. Bustamante, *Bernstein Operators and Their Properties*, Springer, California, 2017.